How does the scoring work?

Say you have an inspection with a 32 total of items observed, 29 positive observations and 3 negative
observations. If you divide 29 positive by 32 total you will get .90625 and with decimals moved, you get
a score of 90.6%(positive).

Another example: 30 observations, 28 positive and 2 negative, the score would equal: 93.3%.

If you add a Severity Rating of Serious (deducts 5 points) to one of the 2 negative observations the
score would be 88.3% (93.3% - 5 points). For the other negative observation, you rate it at Critical, this
deducts 10 points and the score would be 78.3% (88.3% — 10 points).



